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However if she remarried we do not administer to her a vow

OVERVIEW
81177 27 qualified the rule that for an 717X we make her take a vow (that she did not
collect (part of) her 7121n2), that it applies only if she did not remarry, however if
she remarried, then we do not administer a vow since her (new) husband can
nullify her vows." mooin discusses various ways how to avoid this difficulty but
rejects them.

nmooIn asks:
— 1390942 9NYNY SN NYYA HYN NN BN NT 999 TIRN XYY 119979 9INRN ON)

And if you will say; and let us make her take a vow that she will not eat this
loaf if she benefited from her husband, and she should immediately eat the

loaf in our presence, so the husband will not be able to nullify the 771!
— 2nY %9 BN 2239 NYIX XYY YINYYY 75997 TIIDA NUP 19

And there is a similar difficulty shortly, where the X3 asks, ‘and let us be

concerned that perhaps she will go to a 2517 and he will permit her to ignore the
771; the same question applies let us make the transgression of the 771 immediately, before she
can go to the 0om, in the manner prescribed.

moon offers a (partial) solution:
— (8,9 91 8,79 97 ©213) NOIINNN NIYI P92 9INT NRYHN 1299

And according to X''% who maintains in 779918277 57901 P99 -
—>959¥ NN NPY NNV D113 Y3 9905 N1V

That the husband can nullify all the 25971 (even those) she will be 971 in the

future, then it is well understood, that there is no way that we can be assured that there is
a valid 273, for -
— 970 NTINYY NI DI NY 99N 920 RNY WNMNIY NIINT
For there is the concern perhaps the husband was already =2°» all her future
%971, and therefore she is permitted to eat this 733 =
— YR ININ INYY YaN

! Her vow will not prove anything, since it is ineffective; she will not be transgressing any 110, for there is no 771,
* See ‘Thinking it over’ # 1.
? The first question of Mo (regarding the husband) is answered (according to X"7). However it does not answer
the second question regarding the 0om, for a 0o can certainly not be Svan a future 771
1
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However, according to the rest of the 2°Xin who maintain that the husband
cannot be 791 future 0°771 (only past 2°772) the difficulty remains.

nv0IN answers:
— 915 Y5 NOINA NMY KON NP IPY 9133 RIN “NUWIN NIIRY 919 ¥

And one can say; that she is not concerned if she transgresses the M0°X once
now; she is concerned only for a 971 which causes her to have this prohibition
all her life.

mooIn asks;
— 9950 0P NY 9N NYYA 392 N1 9NN ON)

And if you will say; and let us make her take a vow (which prohibits her from
something forever if she benefited from the 721n2) in the presence of her

husband and he should say to her, ‘you shall be bound by this 72’ -
— (8,09 97 0V) NOIIRNN NIYI P22 9NINTI 991 D1D% PPN INT

For then he cannot be 9252 as the X 1) states in JTO9INR27T 7991 ?95. We will then be
assured that she is saying the truth —

N1B0IN answers:
— 9955 09 MMNOY BN YNYa 1Y 995 RNIY 1PYINT 111 U

And one can say; that we are concerned perhaps he will be 922 the 771 silently
before he states ¥5%% 2%p; so again we are not assured that she is truthful.

mooIn asks:
— 71)3‘,77 919N ANTI 1990 1D PNT 6ﬂ’2‘1 NYT HY 199919 IND ON)

And if you will say; and let us make her take a vow 2°21 ny7 %» which cannot
be nullified as 912K states later —

N1B0IN answers:
— 039 NPT HY 192 £33 152 PINY PR INYN 5973 193857 111 U

And one can say that regarding the 2971 of one’s wife we cannot differentiate

* See previous N7 "7 X,7% Nwon footnote # 17.
5 Therefore even if she eats the 795 now we are not assured that she is telling the truth, for she does not mind (so
much) to transgress an 710°X once, as long as she is not bound to it forever. [For the future the husband can always
be "9°n1.]
6 3737 ny7 9 literally mean according to the consent of many; indicating that it is not up to the person who is making
the 771 to reconsider it or not, but rather the 2°27 decides whether it is a valid 771 and cannot be repealed.
7 qmnx states later on X,19 that even according to the 7"» that there is a 7797 for a 2272 17w 773, nevertheless
regarding a 0°27 ny7 %Y 171 there can be no 7571..
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between a 0°272 771 and a @29 YT Y 171 (whether the husband can be 751 or not) -
— 0934 NYT DY 1N NN 1990 NY W ©393 N3YD 2994 )
And since according to X197 239 a 771 which a wife made 2%392, can have 719977 (by

the husband), the same applies to a 227 ny7 H¥ 771 (that the husband can be 121) -
— 70229 NYT XY 99179 9195 79 NN K92 1PAN 9979 91991 ANYTA NMYN NINRY 1197

For since the 77197 by the husband is not dependent of her mindset, for the
husband can be 9°5» his wife’s 0771 even without her regretting that she made
such a 771, so too can he be 222 without the consent of the a%21.

mooIn responds to an anticipated difficulty:
— 0529 NYT TY NT 199797 YD 281 NN NY YWY DIN 22)D NHIN RNTT 799’

And when the X3 asked (regarding an unmarried widow), ‘but perhaps she will
go to a 2511 and he will permit the 771°; the X3 could have answered that we

make her take the vow 2%29 ny7 ®¥ (where there can be no 70 of a 0m) -
— 9591 23w 297 INY2T NIN

Nevertheless the X773 answered properly without this answer of 0°21 7"v.

In summation: We can accept the 171 of a woman (regarding receiving payment for her 721n2),
only if there is an 07w 70X, but not if she transgresses just this once (for she is not concerned
about a one-time transgression). According to X177 27 the husband can be 79°% even a 771 which
was made 0°271 7"V (but a 217 cannot). X177 27 agrees with 7 X according to this answer.

moon offers another solution why we are not 7°71 her 0227 7"v:
— MamennT 199 1Y XN 29T MY Y N

And in addition one can say; that X117 29 disagrees with 272\,

Mmoo responds to an anticipated difficulty:
— NI 29N INP KD 1991 1D W 9INRT INND 199N 919N 9INRT NN

And that which 2 2K said, ‘even according to the one who maintains that a 772

¥ See the xma shortly on this 71y that 1"1 disagrees with X177 21 and maintains we can be 72 her 0°272, indicating
the 77"7 maintains that even 0°272 the husband can be 7°9n.
? The rule of %" that ©°21 7"y has no 7197 is discussing when the 971 is being annulled by a oon. In that case when
a 0317 is 771 N7 he requires the 70N of the 771 in order to nullify it. (Therefore, since it was 0°27 7"¥ it cannot be
nullified by the individual who made the 771 unless there is the agreement of the 0°27 to nullify it.) However (msoin
maintains) that 77X was not discussing the 77977 of a husband (according to X117 27) since the husband never
requires the 7071 of the wife, therefore he can be 791 even if it was 0°17 7"v.
' The xm3 answered that one who seeks a 90> for his 971 must specify the details how he came to make this 77.
When the 0511 hears that it was regarding a 72103 he will not be 771 7°nn. This answer applies even to a ‘regular’ 772
' X197 27 can maintain that every 771 even if it is 227 7"¥ can be nullified even by a 2511 and not only by the
husband, as the first answer of N0 maintained.
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0°272 has ;19577°, he was not referring to X371 21 -
— PIINNT NN 2297 1929N NN

But rather 72°nX was referring to the 3139 who argue with >''9 in the 7w -
—95TM3 XY 029 92 991 973 59 DIN NN 39 (3,7 91 155 )Nt

For we learnt in the 7w that >''9 says if the woman made any 972 which the

public knew about, he cannot remarry her; the reason is (as explained in the X23) -
— %9991 99 PRY 973 NITIY RMYIID DIVN

Because of nixsap, for she made a 971 which cannot be nullified. The muwn

continues (according to *"), if she made a 771 -
— N9YPYPY YN K91 P95tN 929 92 99T XYW

Which the public did not know about, he may remarry her, for >"7 is not
concerned for R"psp -

— ©%29 92 9977 XYY 029 1975 193 21591 N9 R9IDYH DIVN TN XY 92N 93999 71329
And the 32139 argue and say ‘he may not remarry her, because of the concern of
x‘np’?p’,ls and the 13127 do not distinguish whether the public knew about it or
the public did not know about it; in all cases he may not remarry. This concludes the

citation of the (X7237) 71wn there.
— Pnn9n 19 v NaYN

12 According to this answer X117 21 disagrees with "X and maintains that even a 71971 12 w> 2227 7"y 971 (even by a
oom), so we cannot say that when 2K said 7757 12 W 0°272 771 7"n% "R, nevertheless 779717 1K 0°27 7"V 973, he
meant X177 27 (who does maintain 7157717 w° 0°372 173), because this answer of N501N maintains that according to 27
X117 even a 71977 12 w° 0°27 7"V 772 The question is who was 2K referring to that distinguishes between a 0°272 173
which 77577 1% ©° and a 2°21 7"y 971 which 77977 1% PR, [It cannot be 11 21 for he maintains that even a X 0°272 172
m9711%.] See ‘Thinking it over’ # 3.
"> The mawn there states that if a person divorced his wife because she made a 171 (and he does not want to be
married to a woman who makes 0°772) the rule is that he may not remarry her after he divorced her. One reason ( "
7TI) is because of kM¥™D; we do not want that the 287> n112 should be careless regarding 0™173. The other reason
(the 1327) is because of X7P7p; we are concerned that if she remarried and he realized that she was able to be 7°n»
her 171, he might say if I had known, that we could be 7°nn the 171 I never would have divorced you, casting a doubt
on her w173, and (therefore) on her subsequent marriage including any children born in the new marriage. v">y.
' 379 "1 is of the opinion that a 222712 771 has no 7797
15 One can be 797 a 0372 A7 KW 271, therefore it is not considered a N>,
16 915 is not considered that when the husband finds out that he could have been 7’07 the 2731, he will recant on the
w17 there is no such concern.
7 mooin seems to be referring to n"1 there in the nawn, who states: N7PM 7IX WKW I K7 00 NPA XY 771 93
1 o, If it requires a 0o n°pn the husband may say I did not realize that we can be 7°nn this 171, etc. (the wwn of
X217%p). However if 231 npn 7% 1R the husband knew that he could be 19°n, there is no reason to recant.
'8 When the husband realizes that he could have been 1°97 the 171 he will regret the w13,
" If a 0272 771 has no 77971 then there can be no 9%, since she is always bound by the 771. There is no reason for
the husband to have any regrets regarding the 7"w17°3. The fact that the 7137 do not distinguish between 0773,
indicates that they maintain that by all 2>171 (including a 0°372 27) there is the concern of 91p%p; this proves that
even by a 0’272 771 there is 797.
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It is evident that the 7327 who argue with >"7 maintain that a 2°272 171 does have

7791, It is these 1327 whom X is referring to when he stated 77577 12 w° 02272 971 7"n% “9X, but
a 1o 77 PR 0°21 7"V 9T,

mooIn offers an additional proof that the 13127 maintain that a 775717 w° 2°272 972
— 21555 nyyaw 1199y 5N M 0NN ION 19299 MNPT Conn ywn 19

And so it appears there where the X773 explains according to the j129; ‘is it

then so that there the 12w was at all effective?!’ This too -
— 1199719 Y’ 132997 yRYN

indicates that according to the 3329 a 0°272 771 has 7997.

In summation: this answer maintains that X117 27 argues with 92X and maintains that there is
7797 (by a 0°272 771 and) even by a 0°27 7"V 771, The 7"» that "m°»X was referring to (who
maintains that a 7797717 w° 0°272 771 but a 779717 PR 2°27 7"V 771) are the 13271 who argue with °",
and maintain the reason of X?1p%p (regarding one who was WX w11 because of a 77).

nooIn asks:
— 1990 1Y PN D29 NYT HY RN 9999NRY 99NN ON)

And if you will say; but according to 2722\ if it is a 57957 %9 PR 2927 7"y 771 -
— Zx9yphp 899 £%29 NPT HYAT TN KYT 1329 S9N PIY Y93 XY Th99 YY 19 ON

Therefore perforce you must say that the 13 did not rule =271 X% in every

event, for a by a 2°37 ny7 ¥ 771 there is no X»1»9p (since there is no 7197) -
— 2490 99 W1 992041 195 N 923 ©5393 19 ON

If so even by a 27272 171 how does 22X know that the 7327 maintain that ¥ @
il-h R

moon answers; distinguishing between 2°272 771 and 2°27 7"y 772:

20 x.m.
21515 proved that a 0272 773 has no 7797 from the story of the 2>1wax (who came and told ¥ and the *"32 that they
came from a faraway place [not from the X '1] to make peace with the *"13). The P09 in > ,0 YW states, D337 R?)
T7va R 077 waws °3 RO *13, indicating that since it was a 0°372 7312w, they could not nullify it. Therefore they
did not kill them. The X3 there says that the 7127 maintain that there is no proof from the story of the o1y
(indicating that really a 779717 @ 0°272 77), for in that case there was no 7¥1w at all (for it was a 7¥12w made on
false pretenses [a Myva 7¥12w]); the reason the 0 w23 were not killed is because of aws nw17Tp (the 0"y should not
say that the *"12 transgressed their 7y12W).
2 There is no X7179p by a 0221 7"y 773, therefore the 1127 will agree that 971 (even though they did not differentiate,
when they said 7°17° X2 between a ‘regular’ 171 and a 0°27 7"V 172).
 Perhaps the 1327 maintain that a 2°272 973 has no 77971 and therefore 711> (even though they did not differentiate,
just like they did not differentiate by a 0°37 7"v¥ 771 which certainly has no 7757 and he can be 7°11). When the 7127
(n") said 771> X 0317 NPPR IRw 171 93 he was not referring to a 0°272 771 (just as he was not referring to 027 7"v).
5
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— N 29 ITNVY D3937 MY YN

And one can say; that regarding a 2%292 7171 which "2 mentioned (" stated that by
a 1 X2 0227 Y91 1) therefore it follows that -
— 1% 2297 RIDON 1D PINYY YWI99Y 13395 10D 1D 1997 1Y PN 132997 NN ON

If indeed according to the j137 the rule by a 0°272 971 is that 79957 ¥ PR (and
therefore 7°1m°), the 1129 should have been explicit and argue saying® the
opposite of 2°3'"1 -

— 0939 NYT DY 999N R ) NN 2297 1339 N2 29N RDT WINY PN 034 NYT Yya YaN
However concerning a 2°29 7"y 771 there is no concern (why the 7127 did not
mention that 7°177°), since the j129 are not discussing a 0°17 7"V 171,26 for »''1 also
did not mention anything concerning a @%29 7'y 771,

In summation: We can derive from the fact that the 13127 did not maintain by 711> 0°272 273, that
they rule a 7197 12 w° 0°272 771 (since °" is discussing a 0°272 773); however we cannot derive
from the fact that the 1121 did not rule explicitly by a 21 2227 7"y 973, that a 1% @° 2227 7"y 7
7797, since *"1 [and the 1127] are not discussing a 227 7"y 771.

mooin offers another answer why we cannot derive that the 13127 maintain that a 17 w° 0°271 7"V 912
7197 from the fact that the 1327 did not rule 7°117°, just as we derived that a 7797 1% ¥° 2°272
from the fact that the 13129 did not rule 2°57>:

— 9N INNY 19299 H1NY XPIDA KDY 039 NYT HYaT T

And furthermore the reason the 7127 did not rule by a 21> 2°27 7"v 971 (is not
because they maintain that 7957717 1°X 0°27 7"y, but rather) because regarding a 72

2°37 7"'v there is no clear cut rule that we could say 931 (by a 227 7"y 73) -
— MM 9319 1% 79239 MN YY DNy P9 D239 NYT YA 19N YO Db

For occasionally there can be a an°71 even by a 2°29 7"¥ 173, for instance with
the agreement of those 2°29 (that the 171 should be nullified) or a 2°27 7"V 7971 can
be also nullified for the purpose of a 712, so in those cases -
— N9 NIINY
There will be X9 if we rule 21, since 77977 1> w° -
— 99N 2NNY 11D 1N N99N 1Y PNRT NN ON D293 YaN

* The 1127 should have said by a ‘regular’ 771 the ruling is 1> X% (for since 77977 12 w* there is the concern of
X?179P), however by a 0°372 171 (since there is no wwn of 7p2p for 719717 1K) the rule is 1.
* The fact that they did not argue by a 2272 773 proves that they agree with "3 that 7" X9, because (since 12 2°
7197), there is the concern of 21p9p.
6 Everyone knows that a 7797 1% PX 027 7"y 771 (therefore it is obvious that according to 2t X2 *"3 [for it is
certainly a Xn1¥>19] and according to the 7°1m° 1137 [there is certainly no X21p%2]).
" Those people on whom she indicated her 171 dependent on.
2 1t would seem that (since there is a possibility of 77977 therefore) it is never 7" (even) by a 0°27 7"y 771 (also).
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However regarding a @°272 171 if indeed the 13127 maintain that 57757 Y% PN, the

1127 should have stated that by a 0°272 771 the rule is 991 (the opposite of *"™) -
— 199715 PR 9NT INPY 7997 19 PN 1IY DIVAT KD RPIDIT NNYINT

For according to those who maintain that a 779577 ¥ P8 0°272 173, it means that
7927 1°8 under all circumstances -

:3011’11 1819 9295 D21¥2) NYYNT YN NIYIN 929D NIW R I8N 9299 Naw XY
It makes no difference if it is for a mx» purpose or whether it is for a general
purpose there is never 711577. You know that this is true because the story of the
2°1v2as was regarding a 77127 937 and nevertheless they could not be 7°nn the ny1aw.

In summation: this answer maintains that by a 0°21 7"V 771 there is a possibility that 7197 19 w°
(either 0221 7"y or Mmxn 1272), therefore the rule cannot be 21, even though generally a 7"y 971
77979 PR 0020,

SUMMARY

A 771 1s sufficient proof only if it will prevent X317 for the lifetime of the 7711; not
only for the immediate present. There are two views in Moo whether X177 29
agrees with °X (and we will assume that (only) a husband can be 79 a 7"y 772
0’27), or 1"7 disagrees with X (and the previous assumption is not necessary).
Tn°nR (when he says 191 7"n% "5X) may be referring to the *"27 7327. The 1121 can
either maintain that by a 2°m° 2°27 7"V 771 (since 17197717 PX), or that since there can
be a 71977 by a 021 7"y 171 (either through the 2°277 N1o0T or M¥H 1277), therefore
2T KD

THINKING IT OVER

1. mvoIn states that when the X3 asked that we should be concerned that perhaps
the woman will go to a odon and he will nullify the 971, the X3 could have
answered that we will have her say that if I benefited from the 721> this loaf
should be MoK to me and she is to eat it immediately.”’ Seemingly however this
solution is applicable regarding the husband, who can (only) be 791 the 771 for the
future, however a 0211 can uproot the 771 retroactively as if there never was a 773,
therefore the X713 asks rightfully, that we should be concerned that the 2517 will be

* See ‘Thinking it over’ # 2.
0 There is the 7187 of 72w %2 AN XY regarding the Ny 't (which the 2123 were part of).
! See footnote # 2.
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71 the 771!1%2

2. Why is it that if we maintain that a 79957 Y% ¥° 0°272 77, but a % PX 021 7"V 2
7197, nevertheless if it is 2°277 Ny or M¥n XY then 7997 % v (even by 1"V
0°27); however if we maintain that a 77977 17 1R 0°272 ‘173,33 then even if it 1s Dy
0°377 or M¥N TNYY it has no 7797217

3. It appears from mpoIN that if we maintain that 7"7 argues with X (and
maintains 17197 1% ¥° 2°27 7"¥ 971) then we will need to say that the 7"» that K
was referring to (that 7197 1% W 0°272 971 but 779717 PR 0°271 7"y 77) is the 1121
»"~7.%° This would seemingly indicate that if 9»°»X is referring to X177 27, then there
is no need to say that the 7327 maintain that a 779712 w° 2°2272 773 and 17 PR 2°27 7"y
7197. However it would seem that regardless what 7"7 maintains the "7 7127
certainly maintain that 7997 17 w° 0°272 771 and 7997 7% PR 0°27 7"v. Why does
moon say that MR is referring to °"77 7127 only after he assumes that 7"
disagrees with 1 nx?!%

32 See n"n1,1"an and 7"nx # 128-134.
33 See footnote # 29.
* See 1"mx footnote # 191.
33 See footnote # 12.
3 See [TrxA] R"wAn.
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